Contract No. CON-22-200-POL



# LINKING AGREEMENT FOR COOPERATIVE PURCHASE

#### MOTOROLA SOLUTIONS, INC.

#### MOBILE RADIOS

This Linking Agreement for Cooperative Purchase (hereinafter "Linking Agreement") is made and entered into on this \_\_\_\_\_ day of \_\_\_\_\_, 2021 ("Effective Date") by and between the Town of Paradise Valley, an Arizona municipal corporation (hereinafter designated as the "Town") and Motorola Solutions, Inc., a Delaware corporation, authorized to do business in Arizona (hereinafter designated as "Contractor"), (each individually a "Party," together "Parties").

# **RECITALS**

A. On October 9, 2019, the State of Arizona entered into a contract with Contractor to purchase goods and services described in the State of Arizona Solicitation No. ADSPO19-00008376 and State of Arizona Contract for Public Communications Equipment and Services, Contract No. CTR046830 ("**Cooperative Purchasing Agreement**"), which is incorporated herein as if fully set forth. The Cooperative Purchasing Agreement permits its cooperative use by other governmental agencies including the Town; and

B. Pursuant to A.R.S. § 41-2631 et seq. and Town of Paradise Valley Resolution Nos. 1205 and 1207, the Town has authority to utilize cooperative purchasing contracts of the Federal government and State of Arizona public agencies and public procurement units, including Mohave Educational Services Cooperative, Inc., and engage contractors under the terms thereof.

C. The Town desires to contract with Contractor for supplies or services identical or nearly identical to the supplies or services Contractor is providing other units of government under the Cooperative Purchasing Agreement as the basis of this Linking Agreement, and Contractor desires to enter into this Linking Agreement to provide the supplies and services set forth in this Linking Agreement.

# AGREEMENT

NOW, THEREFORE, Contractor and the Town, in consideration of the foregoing Recitals, which are incorporated herein by reference, and for the consideration hereinafter set forth, promise, covenant, and agree as follows:

- 1. Scope of Work; Terms, Conditions, and Specifications.
  - 1.1. Contractor shall provide Town the supplies and/or services, generally described as 10 All Band mobile radios and associated equipment, and more particularly identified in the Motorola Solutions, Inc. Quote No. QUOTE 1573303 dated 10-8-2021 ("Scope of Work") attached hereto as Exhibit A and incorporated herein by this reference.

Page 1 of 5 (Form Rev. 4-1-2021)

- 1.2. Contractor agrees to comply with all the terms, conditions and specifications of the Cooperative Purchasing Agreement. Such terms, conditions and specifications are specifically incorporated into and are an enforceable part of this Linking Agreement, except to the extent otherwise provided in Exhibit B. As used in this Linking Agreement, all references to the State of Arizona or its agencies and departments in the Cooperative Purchasing Agreement shall mean the Town of Paradise Valley, Arizona, and/or its departments.
- 1.3. Contractor shall comply with all specific requirements and/or options of the Town, as specified in **Exhibit B** attached hereto and incorporated herein by reference. **To the extent there is any conflict between Exhibit A or B and the Cooperative Purchasing Agreement, Exhibits A and B take precedence.**
- 2. <u>Payment</u>. Payment to the Contractor for the services, materials and/or equipment provided, shall be made in accordance with the price list and terms set forth in the Cooperative Purchasing Contract. The total compensation for the supplies and/or services purchased under this Linking Agreement shall not exceed \$80,751.40, as provided in **Exhibit A**.

# 3. Contract Term and Renewal.

- 3.1. According to the Cooperative Purchasing Agreement, purchases can be made from the date of the award, which was October 9, 2019, until the date the contract expires on October 9, 2024, unless the term of the Cooperative Purchasing Agreement is extended by the original contracting parties.
- 3.2. The term of this Linking Agreement shall commence upon the Effective Date set forth above and shall remain in full force and effect through June 30, 2021, or until all work under this Linking Agreement is completed and satisfactory to the Town, whichever is earlier, unless terminated as otherwise provided in this Linking Agreement.
- 4. <u>Certificates of Insurance</u>. All insurance provisions of the Cooperative Purchasing Contract shall apply, including without limitation, the requirement to name the Town as an additional insured. Prior to commencing work under this Linking Agreement, Contractor shall furnish the Town with Certificate(s) of Insurance issued by the Contractor's insurer(s) as evidence that policies providing the required coverages, conditions and limits required by this Linking Agreement are in full force and effect.
- 5. <u>E-verify</u>. Contractor complies with A.R.S. § 23-214 and agrees to comply with the requirements of A.R.S. § 41-4401.
- 6. <u>Boycott of Israel Prohibited</u>. To the extent Title 35 is applicable to the Contract, the Contractor warrants that it is not and will not participate in prohibited activity in contravention of A.R.S. § 35-393.01.
- <u>Cancellation for Conflict of Interest</u>. This Linking Agreement may be cancelled pursuant to A.R.S. § 38-511.

IN WITNESS WHEREOF, the Parties have hereunto subscribed their names.

(Signatures on Following Page)

# TOWN OF PARADISE VALLEY,

an Arizona municipal corporation

By: Jill Keimach Its: Town Manager

ATTEST:

Duncan, Miller, Town Clerk

(SEAL)

APPROVED AS TO FORM:

Andrew J. McGuire, Town Attorney

# MOTOROLO SOLUTIONS, INC.,

a Delaware corporation

By: \_\_\_\_\_

Its: \_\_\_\_\_

# EXHIBIT A

# LINKING AGREEMENT FOR COOPERATIVE PURCHASE

MOTOROLA SOLUTIONS, INC.

# MOBILE RADIOS

#### SCOPE OF WORK AND PRICING

See Attached Quote No. QUOTE-1573303

н	в	L	U	E	7	6	н	1	JK
Μ,	MOTOROLA	SOLUTIONS			Quete	Number: OUOTE	-1572202		
·			Quote Number: QUOTE-1573303						
Billing	Address:	Quote Name: 10-APX8500	Quote Created By:						
	ISE VALLEY, TOWN	Quote Date: 2021-10-08			Suzanne Millard				
6401 E	LINCOLN DR	Expiration Date: 2022-01-06							
PARAD	ISE VALLEY AZ,			Suzy.	MIIIard@motorolasolutions.com				
	ner: PARADISE VALLE		Currency: USD						
	t Name: Heather Be								
	t Phone: +1.480.34	@paradisevalleyaz.gov							
Contac	. Phone: +1.460.54	0.0040							
			Quote Notes:	Please include the follo	wing on all PO's:NET 30SUBJECT TO	TERMS AND CONDITIONS			
				AZ CONTRACT CTR046830					
erms	and Conditions: non	e							
ine #	Item Number	Description	Quantity	Unit List Price	Ext. List Price	Discount %	Discount S	Unit Sale Price	Ext. Sale APC
		beschption	equatiency	oniceixerrice	Extremeter	Discount in	biscount o	onicourcentee	Price
	APX™ 8500								
	M37TSS9PW1AN	APX8500 ALL BAND MP MOBILE.	10	\$5,152.00	\$51,520.00	27.00%	\$1,391.04	\$3,760.96	
а	GA00580AA	ADD: TDMA OPERATION.	10	\$450.00	\$4,500.00	27.00%	\$121.50	\$328.50	\$3,285.00 065
		ADD: ALL BAND MOBILE ANTENNA							068
b	GA01513AB	(7/8/V/U).	10	\$95.00	\$950.00	27.00%	\$25.65	\$69.35	\$693.50 1
lc	G51AT	ENH:SMARTZONE.	10	\$1,500.00	\$15,000.00	27.00%	\$405.00	\$1,095.00	\$10,950.00 065
ld le	G78AT	ENH: 3 YEAR ESSENTIAL SVC.	10	\$176.00	\$1,760.00	0.00%	\$0.00	\$176.00	\$1,760.00 018
e	GA05509AA	DEL: DELETE UHF BAND.	10	-\$800.00	-\$8,000.00	27.00%	-\$216.00	-\$584.00	-\$5,840.00 068 068
lf	GA01606AA	ADD: NO GPS/WI-FI ANTENNA NEEDED.	10	\$0.00	\$0.00	0.00%	\$0.00	\$0.00	\$0.00 1
1g	G298AS	ENH: ASTRO 25 OTAR W/MULTIKEY.	10	\$740.00	\$7,400.00	27.00%	\$199.80	\$540.20	\$5,402.00 065
<u>+s</u> 1h	B18CR	ADD: AUXILIARY SPKR 7.5 WATT APX.	10	\$60.00	\$600.00	27.00%	\$155.00	\$43.80	\$438.00 065
11	G843AH	ADD: ABS ENCRYPTION AND ADP.	10	\$475.00	\$4,750.00	27.00%	\$128.25	\$346.75	\$3,467.50 065
1j	G444AH	ADD: APX CONTROL HEAD SOFTWARE.	10	\$0.00	\$0.00	0.00%	\$0.00	\$0.00	\$0.00 065
1k	G67EH	ADD: REMOTE MOUNT E5 MP.	10	\$297.00	\$2,970.00	27.00%	\$80.19	\$216.81	\$2,168.10 065
11	GA01517AA	DEL: NO J600 ADAPTER CABLE NEEDED.	10	\$0.00	\$0.00	0.00%	\$0.00	\$0.00	\$0.00 068
1m	G806BL	ENH: ASTRO DIGITAL CAI OP APX.	10	\$515.00	\$5,150.00	27.00%	\$139.05	\$375.95	\$3,759.50 068
1n	GA01670AA	ADD: APX ES CONTROL HEAD.	10	\$652.00	\$6,520.00	27.00%	\$176.04	\$475.96	\$4,759,60 068
10	W22BA	ADD: STD PALM MICROPHONE APX.	10	\$72.00	\$720.00	27.00%	\$19.44	\$52.56	\$525,60 047
1p	G361AH	ENH: P25 TRUNKING SOFTWARE APX.	10	\$300.00	\$3,000.00	27.00%	\$81.00	\$219.00	\$2,190.00 065
2	LSV00Q00202A	DEVICE PROGRAMMING.	10	\$75.00	\$750.00	0.00%	\$0.00	\$75.00	\$750.00 046
3	LSV00Q00203A	DEVICE INSTALLATION.	10	\$525.00	\$5,250.00	0.00%	\$0.00	\$525.00	\$5,250.00 046
		DEVICE MISCELLANEOUS: Estimated On-							046
4	LSV00Q01073A	Site Travel Fee	10	\$60.00	\$600.00	0.00%	\$0.00	\$60.00	\$600.00 1
5	Trade-In		1	-\$3,500.00	-\$3,500.00	0.00%	\$0.00	-\$3,500.00	
-								Net Total	\$74,268.40
								Estimated Tax	\$6,483.00
								Estimated	

46 47 48 Freight \$0.00 Grand Total \$80,751.40

## EXHIBIT B

# LINKING AGREEMENT FOR COOPERATIVE PURCHASE

#### MOTOROLA SOLUTIONS, INC.

# MOBILE RADIOS

# SPECIFIC REQUIREMENTS/OPTIONS OF TOWN

Notices: All notices required under the Linking Agreement shall be sent to:

Pete Wingert, Chief of Police Paradise Valley Police Department Town of Paradise Valley 6433 E. Lincoln Drive Paradise Valley, Arizona 85253

With mandatory copy to:

Town Attorney Town of Paradise Valley 6401 E. Lincoln Drive Paradise Valley, Arizona 85253

Page 5 of 5 (Form Rev. 4-1-2021)